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I. (a) “Modern Marketing is an integrated process of
identification, assessment and satisfaction of human
wants.” Comment upon the statement in the light

of the importance of marketing. (2+7)

(b) Explain the consumer buying process with an
example. (9)

Or

(a) “There is one and only one valid definition of
business purpose; to create a customer.” Discuss
this statement keeping in view the nature and
importance of marketing. (2+4+6)

(b) What is the holistic marketing concept? Explain

its significance with the help of an example.

(3+3)

2. (a) What is meant by Market Segmentation? How is
it different from Market Targeting? Explain with
the help of various factors affecting the market
segmentation, (2+2+8)

(b) How does the changes in technology and the

natural environment affect a firms’ marketing

decisions? Support your answers
examples,

with real life
(3+3)
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and disadvantages.

(b) Do alj consumers pass throy

gh all the stages in
buying, as in the case of:

(2+2)
(1)

Buying a Shampoo or a personal computer,
(1i) Buying a Double-door fridge and toilet soap

3. (a) As the marketer of high definition TV, you have

to decide between penetration or skimming pricing

policy. Explain the factors you would consider in

making that choice. (4+5)

(b) What factors should be taken into account while

planning the distribution network for an FMCG
product? 9)

Or

(a) What is meant by pricing of a product? For each
of the following products, specify which pricing
policy needs to be adopted by the manufacturer
and why? (143+3+3)

P.T.O.
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(1) Highly fashionable dress designer by Ritu

Beri

(i) A newly introduced text-book for B.Com.

Course.

(1) A detergent brand

(b) Explain the Product Life Cycle (PLC) with a help
of a diagram. What strategies will a marketer use
in the maturity stage of PLC of a product?

| ' (4+4)

;;;t 4. (a) “Middlemen is a parasite, he sucks the blood of
- manufacturer and the customer”, do you agree
. with the statement, support it with suitable
4 explanation and examples. (4+4)

(b) Define the concept of promotion. What the various
tools of promotion? Explain them in brief.

(2+8)

Or

(a) What is logistics managemen(? Explain the benefits
and process of logistics management. (3+3+4)

(b) What are the different factors g

' ffecting the
- promotional mix of ap Organisation?

(8)
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d.  Write short note on any three of the following : _
(6+6+6) by
(a) Cognitive Dissonance q
ve
(b) Psychological pricing
tg
(c) Social Marketing ’fr .
(d) Sustainability Marketing Mypoia 5
(e) Integrated Marketing Communication
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